Q1 To make one cubic metre of
1:2: 4 by volume of concrete, the
volume of coarse aggregates
required is

(a) 0.95 m?

(b) 0.85 m?

(c)0.75 m? Q “
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Q4 Consider the following
strengths of concrete:

Cube strength

Cylinder strength
Split-tensile strength
Modulus of rupture

The correct sequence in mcreasmg
order
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(@)3,4,2,1
(b)3,4,1,2
(c)4,3,2,1
(d)4,3,1,2
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As per 1.S. Code of Practice,
ete should be cured at

(a) 5°C
(b) 10°C
(c) 27°C

(d) 45°C

The correct sequence of
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order of their application from low
to high workability is
(a) Slump test, Compacting
factor test and Vee-bee
consistometer.
(b) Compacting factor test, Vee-

bee consistom d

Siumptest % ﬂ
(c) Vee-bee or;: stometer,
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Q11 Assertion (A): Calcium
chloride addition in concrete proves
more effective in slow- hardening
portland cement than in rapid-
hardening cement

Reason (R): Calcium chloride acts as
an effective accelerator thereby

BVEFEXam.org




Q12 Which one of the following
types of concrete is most suitable in
extreme cold climates?

(a) Air-entrained concrete

Increases the compressive
strength of concrete

2. Reduces the shear strength
of concrete

3. Increases the speed of
chemical reaction.

Select the correct answer using the

codes given below:

(a)1,2and3
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(d) 3 alone

Q15 Which one of the following
aggregate gives maximum strength
in concrete?

(a) Rounded aggregate Q “

(b) Elongated agg
R

and 3 are correct
1 and 2 are correct
1 and 3 are correct

Q17 In building construction, the
place for providing damp proof
course is at the

(a) Basement level

(b) Window sill level
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(d) Roof level

Q18 Consider the following
statements:

Pozzolana used as an admixture in
concrete  has  the owing
advantages “ “
Itim KO orkability with
les al of water

Iphates

wer using

List— 1l
1. Anti bleede

2. Retarder

3. Air
entrainer
4. Water
reducer
sulphate
Codes :
a. A-3,B-2,C-1,D-4
b. A-4B-3,C-2,D-1
c. A-3,B-4,C-1,D-2
d A-4B-2,C-3,D-1
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Q20 Bleeding of concrete leads
to which of the following?

1. Drying up of concrete
surface
2. Formation of pores inside

3. Segregation of aggregat
4. Decreasei : “
Select the correc eriusing the
el Q
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